.. Expressions. 1 point each, 18 points total. For each Java expression in the left hand column, indicate the
result of the expression in the right hand column.

You must show a value of the appropriate type. For example, 7.0 rather than 7 for a double and "'7"

instead of 7 for a String. Answers that do not indicate the data type correctly are wrong.
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The Math methods ceil, floor, sqrt, pow, and abs all return doubles.
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0. Math.ceil(-1.75) + Math.floor(2.5) L [))
-1.0 4+ 2.0 o 'E’(
-\
.0 (515
P. Math.min[b/&ath.max(.s, 1), Math.min(1.5, 0.5)3 o 5
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2. Code tracing. 2 points each, 18 points total. Place you answer in the box to the right of the code.

If the code results in a compiler or runtime error, state the kind gf: error that occurs.
A. What is output by the-foll;d;ng code when it is run? a
4 -3
int xa =,Z;B
int ya=.3 + xa-* 2; 2'%7 kUz"]
xa+t+;
yape=(ya foxad - e L2l ¥%)). ==
Ra tm 2 it i -9
System.out.print(xa + " " + ya); == .G — —
——
S X i e (
B. What is output by the following code when it is run?
intxb=}/;7lu Gg =10 @
xXb++;
Xb = xb + 2; 7=
~) double ab = 4;("/1"L -0
ab -= 2 * xb; o- bt (-O—C’Z*KOB
System.out.print(xb + " " + ab); =Vl2 20
C. What is output by the following code when it is run?
int xXe = 3. l<5
for(int i = 1; i <= 3; i++ {;:JA’QZ 3
int -yo = 4 k9% Tam s e
XC = XC + yc; 50\13
}
System.out.print (xc) ;
D. What is output by the following code when it is run?
cliy 00y
double ad = 1.5; ad =LK H.5 -
double bd = -ad;  bd - - L5 9-
ad *= 3; e
bd'= =1 < bd; -\ LS

System.out.print(ad + " " + bd);

E. What is output by the following code when it is run?

stz Lol e "

"xe ” -

String
int xe

ye;
se = ye + se + xe;
System.out.print(xe + " " + se);

A
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. How many asterisks does the following code print out?
Don't show the output. Simply state the number OI
of asterisks that are printed out when the code runs.

for(int i = -5; i <= 3; i++) {9
System.out. prlnt("*")

}

G. How many asterisks does the following code print out? o
Don't show the output. Simply state the number ¥
of asterisks that are printed out when the code runs.

for(int ig = 1; ig <= 8; ig++) {8
/] “for(int 1g = 5;-3g >:04 Jg--) S |,
System.out.print ("*"); %
System.out.print ("*"); )

& =10

H. How many asterisks does the following code print out?
Don't show the output. Simply state the number
of asterisks that are printed out when the code runs.

- for(int,._Q_n = 0; ih < 4; ih++) {dX sR e
System.out.print ("*"); ,L
[ for(lnt jh = 0; jh < 1 jh++)

System.out. prlnt("*") @ /\/ T2

System put.print ("*») ;&
for(int jh = 0; jh < 3; jh++) {},(J L( ZL‘I*’P’-L 4,'3

System.out.print ("*");
}

System.out.print ("*");

I. What is output by the following code when it is run?

> Sys em. out prlnt("l}'! )'7
ﬁ.f(Math ow A 7’ 5. 0)

i /f.foor(al) > Math cell( )
/System out. prlnt("C") Yy
if (Mdth.floor (bi) < Math.ceil (bi))

System.out .prir:/t ( "D",) ;

% f“
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3. Syntax errors. 10 points. Each of the following code snippets contains a syntax error. Explain what the synt,,
error is in a single sentence.
A

fér(in@= 0; final < 10; final++) |
int 'y = 10) w=xt\

System.out.print (x++ * 10);
}

// What causes the syntax error?

B.

String st = ""; D <:—é§
int x = 5; = Te
ity e ogee , t _&ees—D

st = ¥ Y + "res-" + x(i:;:l OXN IXNInA,
System.out.print (st + x);
// What causes the syntax error?

C.

int yg;

Ys >

in yg * 10;

System.out.print (Math.pow(yg, 2x));
// What causes the syntax error?

D.
int m = 3;

intin; Ao P)
int =5; 5 Cy,o
m * + _o; i ‘

5ystem.ouE.print(m);
// What causes the syntax error?

P
ouble ah = 127

i = ah / 4;X07" T2 ind- &
932352 lohar=1 xh* 3; 4.0 3 C/(OU'O‘( &K GA\D

for(int i = 0; i < ah; i++)
System.out.print ("**");
// What causes the syntax error?
Ol 2.9
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.. Programing and Loops. 20 points. Write a Java method to produce the following output.
The method relies on a parameter named size.

When the parameter size is 3 the output is:
— = S &
ke D ﬁ& (\0‘3

=i >
P
When the parameter size is 5 the output is:

- K - -
———K TR - ——

_——kk ok ke ke LL
(i)

* % %k %k %k %k k& %k

Complete your method, including the method header, in the space provided:

5
P\*\O“C shokhic VG‘g C(/q' < il pévre) T
S
s . \
ﬁor(in¥ (Wm-:J 2 [;n¢ ¢F5V2e ,(Hw» igﬂ
F°(< ot dosh =0 Aos\ﬂ < g?z,i- \ —\\I\:'-/-
. Prvn-\ (x _v); Tl (“'\Q—D

S
oo\ +a
(av <m\ shar = O sbax € LL*’Z‘& \ma% Shoc 3%

- W
P(U/\'\‘(” ¥ B,’ » 2

s 4)

. f
) b \\g‘dlsh‘“)\
Co((»‘n-\ a\as\q:O;dxo\:hé &J‘\n j

\)rm)f( s \.); braY

!

\

-
gash ) {  cardes

- a L2 ’\

O
< nern 1
e NG e B

More room for question 4 on next page.
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, Method Tracing and Parameters Simulation. 10 points.

consider the following methods that are all part of the same program:

/;/ & = -

public static void a(int x, int y) {

}

int 2z = x;

X *= 2.

y /= 2;
System.out.print(x + "
Riom-2 =22

public static int b(int x,

}

Sl i
X++;
return x * yiCp

public static int c(int x,

}

int r = b(x, y):
int s b(y, x);
b S Sl o

s =y - s;
return r + s;

public static int d(int i)

i--;

dookae 20
System.out.print(i + "
return i - 2;

Dyt Nt oL o),
———

int y) {

int y) {

")

A. Given the methods above, what is output by the following code?

int x§ = 2;

int y§ = i ;
a4xar—¥a), o LT ,3‘)/
System.out.print(xd + " " + y#@);

B. Given the methods above, what is output by the following COSCI?L

L

int xb = -2;

intyb=b(xb,4,MW>/ 4 Lilp
x> = ﬂnz/u; N b=
System.out.p 1nt(xb e R Y o)
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C. Given the methods above, what is output by the following code?
x¢ =1 ‘ 2yC = 9 7 \ % =
int xc = 2; gt- Bk(_(\/c,x(—)
int vo =157 2\ A s
int zc = b(xc, yc) +
System.out.print(xc + " " + yc + " " + zcC);

D. Given the methods on the previous page,
what is output by the following code? % 0 Yl e (y

X2
32 -
int ya'=2; @
int zd = d(xd—-+—vyd); (s

int xd

o

xd =-blzd, yd); i, % T ¥
System.out.print (xd/+ " " % yd + " " + zd);

E. Given the methods on the previous page,

what is output by the following code? L e vl G S ¢
=
-~
int - ze ='3; 5 - o
int xe = d(ze); L /4
~7 System.out.print(ze + " " + d(xe) + " " + b(xe, ze) + " " + d(ze));
;7>< f"” I/J/O P 1t 1l ‘L/ —3 " (\ X4 I/z,

21 0 =5 T

/

abc

4 B

o<

’5@/31

CS 312 — Midterm 1 —Fall 2014 15



